=
<

H
S
o

o(d @) (rad)
a(d cot(d))

102

o : o
- r i -
KT SIS S 1 e TR S

et B K i s ; Tl
-3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQMstep3_TT_CKF

—e— DQMstep3_TT_default
—+— DQMstep3_TT_defaultNEWTepol10

= £ : : 5
2 e oo T R HER H
=~ ~ p : :
< [} Lot 1Y AR U | I F A
5 o ([N N
5 ° |
ik RN T %L
S T e
LT KL Togt
41
I bl fh b L]
910—2_....I....!....I....I....I.... .910&:""!""""".""""'!""
ST SR SO | . 11| N — 8 v I L oo
o 5 5 5 : A 1 R T SRR
RO B 14 eV GO O SO SO ¢(11HI NN | B
L UM 4161 B
-3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3

TP n (PCA to beamline) TP n (PCA- to beamline)

0P /P,

,_.
<
L

1072

Ratio

...........

11

-1 0 1 2 3
TP n (PCA to beamline)




	Contents
	Page 1


